I) GENERAL INTELLIGENCE AND R ASONINO
Doctor : Patient :: Lawyer : ?
y A) Criminal
C) Magistrate
sfwer: oft - wfrE
A ygmh ) aE

C) afxee ) ol

Choose the odd one: ol
A)  Tomato By Marngo
C) RmE D) |.otus
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Complm:llw series: 8, 16,7,
A)

C) 43
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A) 24

C) 48
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4, Square root of 441
A) 2131
C) 21/

4417961 & m‘lzﬁ:
A) 2131
Cy 21441

/ Complete the series: EFG : HL) : q* ?

A) STV B) CDE :

;ljmnfwﬂ HFG - HL :: wéa ﬁhﬁl | ﬁ “
A) STV B) CDE

C) DEF tsda ltﬂbo"@‘ether

Complete the scries: 5, 11, IT,M 2’,37,43

A) 24 AL WB) 26

c)y 23 D) 28

1.11!\ 9 w5, 11,17, 7,29, 37,43:

A) 24 i B) 26

C) 23 D) 28
l; *

k/ How many times the number 99 should be subtracted from 1111, so that

rull.lhﬁr is less than 997

A) 13 B N

0 12 | D) 10
. 3



111 & fsae T oo # TTT
A) 13

C) 12
J/G"jnnl : Gandhi Nagar & Assam

A) Siligudi

C) Dispur .
TE ey A o WA
A RS
o fraqt

9 '{Poiuling to a photograp
of my mother.” Whose P -
s Son |

A) Suraj's Uncle RUIA)
) S Suraj's Brother |
!

C) Suraj's Nephew
O S e ¢ X 4
"

h Suraj sal y , “His « 3
potograph Was

b Ty Py awi @ . 7
C) [T &1 HAA TRy L
10, Which one is different?
/ A) Gram
C) Tonne
ot @ B b
A A fF
C) = D) fdAmT
Y g
11 If in a certain code, 95789 is written as EGKPT and 2436 h;qm
| then how will 24539 be written in that code? I
A) ALGUT B) ALGRT
C) ALEUT D) ALGTU
afy vw Pftaa ®13 # 95789 EGKPT 3T 2436 # Aﬁm
37 #15 & 24539 &F fFwn smem '
A) ALGUT B) ALGRT
C) ALEUT D) ALGTU
" Tractor : Trailer :: Horse : ?
A) Stable B) Car
C) Saddle D) Engine
dwe: 2w A
A)  yETEd B) m#
C) & D) z= |
lﬂa certain code, SIKKIM is wrlttqniﬂ'THLJJL, how is 'rnwh !
that code ? ' e
A) QBHOHOF B’); UQBHOIOF |
C) UQBHOHOI D) UQBHOHOF
™



v+ fAftua =i ﬁ.SIl(KI:\Im‘rﬁié‘ul‘x w7 & fm Fm ¥, 3w o A
TRAINING & @ SJmeom i

A) QBHOHOF LQBHOIOF
C) UQBHOHOI ‘D) UQBHOHOF
Which word cannot be formed using the letters of ‘INTELLIGENCE'?
A) CANCEL B) NEGLECT
C) GENTLE D) INCITE
NTELLIGENCE' ¥ 38T 1 3uyzipy gt 197 A1 U 1€ T0a1 S Fhall B2
A)L. CANCEL B) NEGLECT
C) GENTLE ; D) [INCITE
b
15 Complete the series: FAG, GAT, HAL 1A -{_‘Lﬂ_CD_
A) JAK W Yy HAL
C) HAK Dy JAI
a1 B qU W FAG, GAE, HAL AN 1 -7
A) JAK . F A By HAL
C) HAK Dy JAl

16.  Select the related letter from hﬂj‘mn altcrn;

A) X ) > B)
4 D)

C Y

Rre e Rred A A FA e & T
A) X . B)
C). ¥ D)
Vﬂnd the odd one from the given alternativ
A) Foal | B)
C) Lamb ' D) 'L
v e Rwedi & ¥ Rwr F K
A) oY @ gT '
C) AwFar - D) gmhy @ aed
18. A boy running towards south, turns to his right and runs. Then he turns to his
right and finally to his left. Towards which direction is he running now?
A)East | 41 LB West L o~
¢ Souh LEL O QO IR Naag T LIITT . 1
o TEET ST 1 AN ¥, 3 iR 3R e ¢ AR S # R oaw
Foy o 3T A § AR e H e ad AR M FE R A W R
A) qd B) «gf¥us
D) 3w

C) =@
How many pairs of letters are there in the word MISCONDUCT which has as

19.
many letters between them as they have in alphabetical series?
A) None B) One
C) Two D) Three



hﬂscmlm'aﬂﬁwﬁmtmmmmﬁmm

foraa anr &
- B my
A .
C) & D) GIGH
20, I 7™ June, 1995 was Tuesday, then what day will be on 15" August, 20082
A)  Monday B)  Tuesday
C) Thursday D) Wednesday
afk 7 5, 1995 ® Fwrear @@ 15 3, 2008 ® W W R gy
A HrEaEr B)  erman
C) AR D) T—ﬁ'l’(
2/“"!:11 will replace the question mark in a series: 2, 5,'9,1%, 20,27
A) 13 ) B) 14
C) 15 D) 16
Mael # AaTaE Rieg 1 9€d & 2, 5, 9, 2, 20,27
C) 15 D) 16
22, If SUMMER is coded ns RUNNER, then WINTER is coded as
A)  SUITER B) VIOUER
C) WALKER D) SUFFER
TR SUMMER & RUNNER ¥ &7 & #Y7 fwar ar &, &) WINTER &1 513 t
A) SUITER “f) VIOUER
C) WALKER D) SUFFER
23. / Simplify the problem (3080 + 6160) + 287
A) 380 B) 350
C) 330 D) 310
HAET W AT Y (3080 + 6160) + 287
A) 380 ~B) 350
C) 330 D) 310
‘64. )iow many triangles are there in the given figure?

A

A) 15 B 14
D)

20

C) 16 |
&k gl A fraa s &2

A) 13 B) 14
G e D) 20




/C!Ilmsc the word which is least like the gthier words.

A) Faraday

D ~thovan
C) Newton .g)) l‘t‘:;;: ,I :u\l'-
oF W T S I R ¥ W oy
A) AR
T3 )y A
€ D) ufswe
I1) GENERAL AWARENESS
12%\’110 won IPL-20207
ﬁ:) DC By Ml
C) SRH D) RCB
IPL-2020 frwar Sfran
A& B) UH A
O wwam va D) I A D
X Maitri-Express® railway service Is associated with:
A) India-Bangladesh By India-Pakistan
C) India-China D) India-Nepal
AN-rrEdwEd da w7 Faey §
A)  IRF-aTAER B) swa-wifRe
0 yma-dw D) wRESIE
thlch is not biodegradable?
A) Leaves B) Twigs
C) Milktins D) Used tea leaves
Ff @ I Fadaw afl
A)  ofar B) =fawi
) zu& = D) st g wra & At
4. /ho discovered cell?
A) Robert Brown B) Lamarck
C) Leeuwenhoek D) Robert Hooke
Ffvw @1 T fraa
A) et @ B) R
C) drpEeE® D) f@¢ &
My  lodine is required for the activity of:
A) Thyroid ' B) Adrenal gland
C) Liver D) Spleen
e ITmAF ¥, & FwA, i
A)  yrIEE B) vswEw A
C) &= D) ¥



3//:' In periodic table each horizontal TOW is ealled as:

A)  Group B) Period .
C)  Sub-group D) Sub-period
RIGIRT taw o v AR 9% W w5 omn &
Ao BT s
©) waam D) ga-dqiftas
}z’//ﬁ Which day is observed as ‘no smoking® day?
Ay 15"y B) 31" December

C) 1" January D) 31" May
Re R ® o v R & T 3 wramn s B

A s S B) 31 fawmmn
© | s=ah D) 3178

33,7
-

-

Who was known as iron man of India? :
A)  Govind Ballabh Pant B) Subhash Chandra [.3-056
C)  Morar ji Desaj [>) Sardar Vallabhbhai Pate]

WA F S 0 & w0 ¥ B e ST 4
N M avwer g B8)

© A S s D) wer asaad gty
3477 Which one of the following gases s ifigft?
. A)  Oxygen = 8

B) Carbon dioxide

C)  Hydrogen D) Helium
R 3 3 sta @t iy faferT &

A) i B) &dw sm3ifearss
©)  egem D) &ftraw

3s. Hypermetropia can be corrected by using:

A) Convex lens B) Concave lens
C) Concavo-convex lens D) Convex mirror

mmmmmmmmmt

A Iaw A9 B) 3@aw dw
C)  wiawra-saa a9 D) zmw gdor
}ﬁ/ The headquarter of North Western Railway is located at:

A) Bhopal B) G\:mhor

C) Udaypur D) Jaipur

IW IR WA F ey R
A) e B) swifamr
C) 3EAR D) ERUT
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3’7‘/‘ T‘{,)c main rubber producing state urr‘.f.

I'Ecmin _Ifll_gln i'vI: amil Nadu
C) Karnntakn DJ Uttar I’r;uicsl\
WRE W IBU W IEEE T §
2: i Ty Aty

p) I oAl

3&/ Which river is most described in Rig-veda”

A)  Ganga river ~ gy Sindhu river
C) Yamunariver D) Surswalti river
W A w1 W A wad v i O
A) s ) p) fay aa
C) g A p)  wEEd JQ
39.  India won its first hockey gold in:
A) 1928 e By 1932
C) 1936 Dy 1948
HRT A 3T qEen R b s
A) 1928 13y 1932
‘/4_5) 1936 Dy 1948 2
. Which of the following is not assocrated with UNG2
A) 1LO @By AWHO' S
C) ASEAN | D) | ofithie above
A=fRfaa & & st g w I?'«'Wﬂrﬂ Cial o
A 3 T Y S A
C) uofaae <0 7 D) I wl
k, What is the miindmum gge limit to play internntional cricket as per new I1CC
policy? A @
DA 15 cars B) 16 years
€) 17 years D) 18 years
a?;ce:ﬁﬁf%mgmaiaﬁr@'ﬂﬁﬂrcm#mwmmwh
A) 5@ B) 169%
O~ 1739 D) igad

Which part of human body is affected first of all by nuclear radiation?

A) Lungs B) Kidney

C) Hean D) Brain
mammmmmm-m@mmm_mp
A 3 ’ B) e

) fe D) A



43. Which onc of these pcrmn:ﬂilit‘ﬁ Was barn in present day Tamil Nadu?
A) ) Jayalalitha B) A R Bnhm:m
C) MG Ramachandran D) Rajnikanth

¥ A ¥ adwme atieeny A TSN w4

A J SmEtam W v ar wm
C) wr AN T D) wrdrm
44, World Toilet Day is celebrated on
A) 1" November B) 4" November
C) 11" November D) 19" November
fra ataras faw wamm wm
A) ) e B)  4mmmr
Q) 1 FaEy D) 19 “dFa]
:/45. The driest area of Himachal Pradesh s ...,
A)  Chamba B) Spiti
C) Kinnaur D) Lahaul
oo w2 w1 gy UE AT e . 8
A)  war B} =hfy
C) Rk D) = rts

" —

i f [ -
(-j{’. Which article of the Indian constitution;provides freedom to manage religious

afTairs? '
A) Article 25 Ii.) Article 26
C) Anricle 27 D) Article 28

m?ﬁu#ﬁmwaﬂmhmﬁammﬁh:m*wﬁm#wﬁmmm

©
A 3ede 25 B)  eee 26

C) HTedZ 27 D) jedz 28
W'Im was the first Speaker of Himachal Pradesh Vidhan Sabha?
A) Sh. K. L. Mehta ‘B)  Sh. Jaiwant Ram
C)  Sh. Thakur Sen Negi D) Sh. Krishan Chand
fRamaw Wiy RumAwsn & ggd vy vt
A) B F TE A B) s FuEa uw
C)  sraEr A7 A D) Afvgeor 92
48 The first underground hydro-clectric project of Himachal Pradesh is:
A) Nathpa Jhakri Hydroelectric B) Sanjay Jal Vidyut Pariyojna
Project
C) Baspa- Il Jal Vidyut Pariyojna  D)! Karchham  Wangtoo  Jal
na
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FAraw v B 9w g wfta%}émﬂ ¢
A)  aryur LA 1n ;’PJ A A faege afser

C) w51 Rege SPEismraD) e At S faega oA

9,  Which onc of the following  is the ' 3 : 1
) $ the Dlogest wildlife Sanctuary of 1 machal
Pradesh ? R Isithe biggees

A) Lippa-Asrang Wildlife B) uu!r;x'hlnml-t‘.hhitkul Wildlife Sanctuary
Sanctuary -
C) Kibber Wildlife Sanctuary D) Daranghati Wildlife Sanctuary

mm##mmmr;mmmmmmm
“A) R G g B o ioadd gt 3R

/.,S;)M_ et a3y D) AU G IR
/5( Whish district is famous for production of Seed Potato in Himachal Pradesh ?
A) Kinnaur p;  Chamba
C) Lahaul & Spiti D) Shimla
R waRr # 3, Aot ey & v A @ R wiey @
A) el B) T
C) arld v ey D) R

III) NUMERICAL APTITUDE

51.  If 5 men can complete a work in 15 days, then find the time to be taken by 25

men
A) 3 days B) Sdays
C) 8days D) 10 days

uﬁswlsfzﬁﬁwm‘{ﬂmmﬁaﬁzspﬂmmmm
A WA B AT F

A) 3R« D) sf=
C) sfew D) 10fe=A
52. If the area of a square is ZH‘Jcmz,.then one of its sitdes will be:
A) 17 cm B) 23 cm
C) 13 cm D) 27 cm
afy fal @ 1 w280 ¥ A A IHHT UF HOT A
A) 178 B) 338
& 1AM D) 27 A
The value of 0.169 divided by 13/is equal to:
A) 1.3 ) B) 0.13
C) 0.13 9) 0.013



13 & fnfaa 0.16f " B) 0.3
A) 13 D) 0.013
C) 0.3 )
having ter I is equal 10F
53/ The circumference of a circle Y e l"g;"fn(‘[;
Ay 2zD D D4
C) b2 ) ©
mqamwmmftdﬁml‘""'
A) 2aD B) &b
C’ aD/2 D) .'tDH
. L]
FS. ) What l\ lhc square root of 0.9 up to one place of decimal®
A) < B) 0.9
C) 0.09 D) 0.03
WETHT & UF TR q® 0.0 F TS 761
A) 03 B) 0.9
C) 0.09 D) 0.03
56. The longest chord of the circle is its...... sosuspsee :
A)  Radius B) Tangent
C) Circumference D) Diameter
g T AN TG AR FWHRY ... &
A fBRen B) wyt@r
C) qfify / DY @y
57. What is the cube root of 1331" :,J “l
A) 11 B) 21
C) 31 D) 41
1331 &1 UAHT ¥ t'z |
A) 11 B) 21
C) 3I D) dl

58. If in 2 years principal of Rs. 100 amounts to 121, when the interest is
compounded annually, then interest rate is:

.
A) 5% B) 7.5% f
C) 10% D) 12.5% |
afy 2@k F A M 1005, W WS AT w7 X THRAT OF 9 121 @ Seh &
a e 7T b
A) 5% B) 7.5%
C) 10% D) 12.5%
?’ The current population of the town is 10000, If the population increases by 10%
every year, then the population of the town after three vears will be......... I
A) 13330 B); 13320
C) 13000 D) 13310

12



WE Y TAATA SEEGAT 10000 h--.-%& _
d et & T A A Sy 2l

13320

A) 13330 :
) 13310

A Fr T 10% F gEir ol ka

C) 13000

60. A river 3m deep and 60 L
i m wide Is' na . -
walter running into sea per m::‘-"tl!ﬁllg\s«ing at a rate of 2.4km/h. The amount of
A) T7200m u t_k_._‘tp :
C) G400 m' B ) oko0 M
- 3] poothm

3.:h'c'{ Tl AR 60 shex Ty 5.4 Rl T 1 X A IF W@ & W
S BT 1 T e

% ?zuorﬁ} By eson FY

. 6400 30 . D) 6000 #AY

g.h;; .I-,l::“l number must be added to 1056. 50 that the sum is completely divisible

A) L
A -7y 2
C) 3_ : py 4
12§5Tm#mwmmmmﬁm23#{ﬁm#mm
) By 2 = 4
¢ 3 D) 4
62.  Thelargest 4 digit number exactly divisible by.88 is:
A) 9944 B) 9768
C) 9988 | D) s8s8
4 35 ) FI8 Th Fom s 88 @R T AT &
A) 9944 B) 9768
Z) 9988 D) 8888
63 Complete the series: 3, 4.1'-'?, ‘i ll.___ll.'}'}\.l_.'.'.g..
A) 14 - Bl 15
0 16 D) 18
AT HY G F: 3,4, 7,8, 1112 e
A) 14 B) 15
C) 16 D) I8
The cube root of .000216 is:
A) 0.6 B) 0.06
Cc) 0.006 D) 0.0006
000216 T TS &
A) 06 B) 0.06
C) 0.006 D) 0.0006

¥
65. A sum of 12,500 amounts to {5,50{! in 4 years at the rate of simple interest. What

is the rate of interest?
A) 3% i) B) 4%
©) 5% f D) 6%
}
14
] 13

]
—
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mmﬂmﬂiﬁﬁ‘@*‘uﬂw 15,500 Y et @1 T X oW R

= B) 4%
A) 3% =
C) o gD
66.  What is the number whose 207 1830% of 407
C) 60 - D) 50
WWWFM?U% 40“30%3‘?
A)Y 00 B) 8o
C) o0 D) 50
67. What i< cot 15° cot 20" cot 70° cot 75° equnl to?
A) -l B) 0
C) 1 Dy 2
col 15% cot 20° cot 70" cot 75° fras Ty h
A) - B)Y 0
o T D) 2
be.....
68. The highest common factor of 4x-9,2x* + x - 6 and 2x°- 3x?-2x + 3 will be
A)  2x-) B) x-4
C) 2x-3 = D) 2x+5
W0 200 6T 200 3yl 2y 4 3 T TOTAIN [HTET FREF . Lag
A)  2x-1 B) x-4
C) 2x-3 [)) IN+S
69, The average of two nunlhe{s is: 7£§. 'fe product of two numbers square root is 6.
The two numbers arc....au... ¥
A) 13,12 B)Y 9.6
C) 10,5 D) 12.3
aﬁmmﬁmﬁaaﬁtlﬂamﬁrmmmﬁﬁhﬁdm&‘ ......... gl
A) 13,12 By 9,6
C) lﬁ. 5 D) 12,3
70.

Find the greatest number that will dl\'ldc

148, 246 and 623 leaving remainders 4,
6 and 11, respectively

A) 12 B) 14

C) 15 D) 16
A T [T T FT S wE 148, 246 3T 623 = Renfoa w7 4,6 3 11
A oY)

12 B) 14
C) 15 D) 16
71. Find the remainder when 73x75x78x57x197x37 is divided by 34,

A) 32 B) 30

C) 15 D): 28
73x75x78x57x197x37 F 34 ¥ Rnfora &=t w1 ey g $ffo

A) 32 B) 30

C) 15 D) 28

14



be ey * wumber is 72, then
find the ot) numbers |y 936 and . CF is 4 and one y then
A) 42 = Iumber. %clr n
C) 62 ﬁ) 52
TR A woam 2RDY 72
U FEa 72 % :W% . Wﬁsaﬁ § ity T ITEE TN 4 ¥ AR
A T I v
F‘ D) 73
71. - L2
".;’\ :e:::r?lkoeper fixes the marke price of an item 35% above its cost price. The
age of dis . iy
A 18% discount allowed g gain 8% 1:,1:“, is?
C) 22% 1)) Ml I|.|

YT 2 & il 8% amy v @
A) 18% 13 :“n.‘n
C} 22'/'0 i]} :.1?0
M. Average of all prime numbers between 30 to 50 is—?
""") 37 o 37.8
C) 39 [} 398
30 ¥ 50 ¥ Ao Wl anmew wEmnt @ AT ¥ —?
A) 37 /B) 3718
C) 39 D) 398
\ :
75.  Find the average of all numbers hcf\\ cen 6 and 34 which are divisible by 5.
A) 15 B) 20
C) 25 D) 30
6 3 34 ¥ drw Wit FEEnt =1 AT T FE A 5 F R §)
Ay 15 BYT20
C) 25 D) 30

IV) GENERAL ENGLISH

76. Fill in the blanks: 1 can not put the foul smell.

A) up B) in
p) up with D) inwith
77. Fill in the blanks: This apron has no pocket 10--—emmeemns
A) put thing B) putting things
C) things to be put D) put things in
78. Fill in the blanks: People slmurld do —— - dowry system,
A) Away j B) Off .
C) away with D off with
79. Fill in the blanks: When sho,'a'frh'cd, [ ——-sem--- for ten minute.
A) have been waited [ B) have waited
C) waited ' D) had been waiting

15



80.

82.

83.

84.

85.

86,

87.

88.

89.

90.

91.

Jping: ‘Confiscateq-.
Choose the correct me g) Destroyed
A) Seized : Bumt
C; Sealed T)/

.tAggregate’;
Choose the correct meaning: - B) Entrance
A) Sum total D) Annoyed
C) Sumup
o sKnack’:

Chnosln:.e the correct meaning B) Aptitude
A) Love D) Desire
C) Dislike )

tion: F ,
C:;:mzf;eh t::r:::ur::li:ﬂle holy river.B). The Yamuna is an holy riye,

C) A Ganga is a holy river

) The Yamuna is a holy riyer,

Change the voice of: *Practice makes the man perfect.’

A) A manpis made perfect
practice
A man
by pr;u:l*g'é.

C)

The antonym of *Legal® is;

A)  Unlegal
C) Inlegal
Synonym of sgl)igfah it

A)  Musical'composition
€Y True statement

Antonym of intrude js:
A)  Withdraw
C) Accept

A)  Enterpreneur o
C)

Find the correctly spelt word: |
P ' [} |
Entrepreneur

One word substitution for.

%mu been made perfee

by B) A manavas made perfect by Practi,

have been made perfect |

ingle mindedness

B) “Acquire

Surrender
1O 1&aTheéar | !
I_ -__} } et 1 1 e | .
b @ntrcorcnure
) “Nterprenure

. e In 1B
existence of God® the sentence Person who does not believe
A)  Theist B :
C) Atheist D; :1:,:&:?:

atic
You will soon get accustomed th
A) To T ;)Cha:"nge of climate.
C) At D) For
Fillin the blanks: Sentin ... JIs waiting.
§ o~ 3 ome

D) Which or

16



94,

95.

96.

97.

98.

99.

100,

Antonym of ‘Moderate’ js

Abnormal
A/ B) Average

C) Extreme D) Separate

Which of following best expresseg the meaning of ‘Admonish’
A) displease B) annoy

C) irritate D) Chide

Single word for each of the following phrase/sentence “Time and space without
u

limit’ S covereennens
A) limitless B) Finite
C) " Infinitude D) Transcendent

Single word for each of the following phrase/sentence ‘Harassed by a fixed idea’
IS verrennronsenss

A) Harangue B) Nervous

C) Obsessed D) Fulminate
What is the synonym of word to commence?

A) Toend B) To begin

C) To finish D) Torun

Which of the following sentence is correct?

A)  Me and my wife went to. l'alr B) My wife and myself went to fair.

G My wife and | went to fajr, "D)  Myself and my wife went to fair.
;_

Give the one word for “A list of na;nes of books”.
A)  Biography B) Autobiography
€) Catalogue D) Analogue

To give one? S aulhm‘ll} to Others:
Intimidate B) Delegate

C)  Abdicate D) Desecrate
The accugeq be

AY” for Bged ”'cJ“Uge--_...-merC}'

CF of B) to

D) with

*""***u**************“**



